N &0l & A E A A

20118 = =0l & LBl A

AN MEH Al

& :o500 X2
= 510 | 1Ex38
8 511 208x3E (9l &3l
RN 0l ey & 0 4 o HIRE2
ES A 839,536 2,304,600 A 1,465,064
AEH S Al Dt 839,536 2,304,600 A 1,465,064
500 Ex= 839,536 2,304,600 A 1,465,064
510 =082x3S 294,720 0 294,720
511 282X 3S 294,720 0 294,720
511-01 2LEx3 124,720 0 124,720
OZAZRIHHALE el 90,000
OS0IBHOER ZYT2 XA 0
O=diOIEX el A3 34,720
511-02 29 - NIGLHMSEIHNEXS 170,000 0 170,000
O20lofieteEzs =32t =4 170,000
520 Al,EHIEEXZ2S 544,816 2,304,600 A1,759,784
521 Al - SHIEESS 544,816 2,304,600 N 1,759,784
521-01 Al - SHIE X3S 544,816 2,304,600 N1,759,784
OHEEY N2 14,400
O==2% % £dI0IE XNSHE 40,000
Od== =sa=5 30,000
Olt2sl@ AYX 450,000

Os=doOIEXMZ XN3AAMY 10,416




